
1) (82)14

Answer: ____________

2) 14/2 x 35/15

Answer: ____________

3) 73 x (-46)

Answer: ____________

4) 450 ÷ 10

Answer: ____________

5) 450 ÷ 10

Answer: ____________

6) Convert the following improper 
fraction 1714/15 + 4014/20 into a 
mixed number

Answer: ____________

7) Find the value of 'f' by completing the 
square of the following equation: 2 + 
8f + 12

Answer: ____________

8) (11 - 19) ÷ 2 + 5

Answer: ____________

9) 98 x 10

Answer: ____________

10) 3210/13 x 255/18

Answer: ____________

11) Find the mean of the following set of data:

0.3, 0.9, 0.9

Answer: ____________

12)

Name the type of angle.

Answer: ____________

13) Find the mean of the following set of data:

0.9, 0, 42, 0.3

Answer: ____________

14) Solve 14d2 + 15d - 19 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

15)

'Name the type of angle.

Answer: ____________
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16) (-10) x (-39)

Answer: ____________

17) A number is chosen at random from 
1 to 75. Find the probability of 
selecting divisors of 16.

Answer: ____________

18) Share 91 in the ratio 43:48

Answer: ____________

19) 4731 x 1093

Answer: ____________

20) 4731 x 1093

Answer: ____________

21) Find area of square 
having each side (s)
equals 2074 in

Answer: ____________

22) 189/13 x 59/10

Answer: ____________

23) A number was shared in the ratio 
5:60. The smaller share was 44. 
What was the larger amount?

Answer: ____________

24)
39  Find Volume of 
                         Square Pyramid 

36
36

Answer: ____________

25) 15458.4 ÷ 228

Answer: ____________

26) 02:08 am To 08:43 am

Answer: ____________

27) Find the value of 'f' by completing 
the square of the following equation: 
2 + 8f + 12

Answer: ____________

28) 8   12/14 - 31   3/4

Answer: ____________

29) Find area of 
triangle s = 8481 in

Answer: ____________

30) Find area of square 
having each side (s)
equals 8171 m

Answer: ____________
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31) Share 52 in the ratio 51:1

Answer: ____________

32) 82 x 100

Answer: ____________

33) (4 - 17) x (18 ÷ 1)

Answer: ____________

34) 8868 x 1793

Answer: ____________

35) Share 80 in the ratio 41:39

Answer: ____________

36) Increase 477.3 by 8%

Answer: ____________

37) 397/15 ÷ 228/9

Answer: ____________

38) Share 87 in the ratio 58:29

Answer: ____________

39)

'Name the type of angle.

Answer: ____________

40)

'Name the type of angle.

Answer: ____________

41) 03:04 am To 09:43 am

Answer: ____________

42) An amount was decreased by 2% to 
$356.00. Find the original amount.

Answer: ____________

43) 97 x (-17)

Answer: ____________

44) 32387.2 ÷ 928

Answer: ____________

45) 15/15 - 7/8

Answer: ____________
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46) 29   4/20 - 31   13/14

Answer: ____________

47) Round 11.2080 to the nearest 1000

Answer: ____________

48) 25/4 x 39/6

Answer: ____________

49) A number is chosen at random from 
1 to 75. Find the probability of 
selecting divisors of 20.

Answer: ____________

50) A number is chosen at random from 
1 to 75. Find the probability of 
selecting divisors of 20.

Answer: ____________

51) b

a o c
Measure angle boc 

Answer: ____________

52) f2 / f12

Answer: ____________

53) A number is chosen at random from 
1 to 75. Find the probability of 
selecting factors of 20 and 17.

Answer: ____________

54)
38  Find Volume of 
                         Square Pyramid 

34
34

Answer: ____________

55)
38  Find Volume of 
                         Square Pyramid 

34
34

Answer: ____________

56) Increase 477 by 41%

Answer: ____________

57) An amount was increased by 9% to 
$347.00. Find the original amount.

Answer: ____________

58) Increase 30.4 by 20%

Answer: ____________

59) Decrease 210 by 3/70

Answer: ____________

60) 326/20 x 3414/15

Answer: ____________
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61) 5460 ÷ 78

Answer: ____________

62) 1512 ÷ 56

Answer: ____________

63) 1512 ÷ 56

Answer: ____________

64) 1512 ÷ 56

Answer: ____________

65) A number was shared in the ratio 
95:100. The larger share was 40. 
What was the smaller amount?

Answer: ____________

66) Round 18.5710768 to the nearest 10

Answer: ____________

67) Round 18.5710768 to the nearest 10

Answer: ____________

68) Find perimeter of 
triangle
a = 3770 cm, b = 
5367 cm,
c = 8019cm

Answer: ____________

69) b

a o c
Measure angle boc 

Answer: ____________

70) Find the median of the following set of data:

21, 7, 20, 18, 2, 36, 4, 10, 8, 26, 38, 
32, 29, 35, 20, 39, 6, 39, 34, 34

Answer: ____________

71) 28340 ÷ 650

Answer: ____________

72) Solve 17f2 + 7f - 19 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

73) (6-9)5

Answer: ____________

74) 990 ÷ 10

Answer: ____________

75) 990 ÷ 10

Answer: ____________
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76) n20 * n-4

n-17

Answer: ____________

77) Share 91 in the ratio 69:22

Answer: ____________

78) Share 91 in the ratio 69:22

Answer: ____________

79) Increase 383 by 11%

Answer: ____________

80) An amount was decreased by 7% to 
$200.00. Find the original amount.

Answer: ____________

81) Simplify 61:92

Answer: ____________

82) Round 16.0701596968 to 6 decimal 
places.

Answer: ____________

83)
34  Find Volume of 
                         Square Pyramid 

31
31

Answer: ____________

84) 23   13/16 - 25   8/9

Answer: ____________

85) b

a o c
Measure angle boc 

Answer: ____________

86) 45.6 x 12.7

Answer: ____________

87) 01:12 am To 08:49 am

Answer: ____________

88) Find the value of 'q' by completing 
the square of the following equation: 
2 + 8q + 15

Answer: ____________

89) Find perimeter of 
rectangle having 
sides a = 9476 cm 
and b = 7917 cm

Answer: ____________

90) (-56) x (-70)

Answer: ____________
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91) Find area of 
triangle s = 2378 ft

Answer: ____________

92) Find perimeter of 
triangle
a = 4825 m, b = 
5437 m,
c = 9805m

Answer: ____________

93) 7072 - 2772

Answer: ____________

94) q-3 / q-
3

q9

Answer: ____________

95) Find the median of the following set of data:

31, 20, 19, 25, 26, 28, 5, 14, 30, 40, 
4, 17, 22, 25, 17, 27, 4, 6, 11, 19

Answer: ____________

96) Round 28.935569347 to 1 decimal 
places.

Answer: ____________

97) Solve 14x2 + 9x - 16 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

98) A number was shared in the ratio 
5:30. The smaller share was 72. 
What was the total amount shared?

Answer: ____________

99) 2 + 11 + (8 x 1)

Answer: ____________

100)
40  Find Volume of 
                         Pentagonal Pyramid 

40
40

Answer: ____________

Total: ___ / 100
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Answers:

1) 828 2) 161/3 3) 4) 45 5) 45 6) 5819/30 7) (f + 4)2 - 4

8) 1 9) 980 10) 8281/3 11) 0.7 12) Acute 13) 10.8 14) d = 0.7 or -1.8

15) Right 16) 17) 1/15 18) 1 : 90 19) 5170983 20) 5170983 21) 4301476in

22) 11037/130 23) 528 24) 16848 25) 67.8 26) 06 Hours 35 Mins 27) (f + 4)2 - 4 28) 4525/28

29) 31145460.926587in 30) 66765241m 31) 1 : 51 32) 8200 33) 34) 15900324 35) 1 : 79

36) 515.484 37) 1373/515 38) 1 : 86 39) Straight 40) Straight 41) 06 Hours 39 Mins 42) $348.88

43) 44) 34.9 45) 1/8 46) 451/70 47) 11.208 48) 405/8 49) 2/25

50) 2/25 51) 110 52) f-10 53) 0/1 54) 14642.666666667 55) 14642.666666667 56) 672.57

57) $318.35 58) 36.48 59) 201 60) 112826/

75
61) 70 62) 27 63) 27

64) 27 65) 38 66) 18.6 67) 18.6 68) 17156cm 69) 54 70) 32

71) 43.6 72) f = 0.9 or -1.3 73) 6-45 74) 99 75) 99 76) n33 77) 1 : 90

78) 1 : 90 79) 425.13 80) $186.00 81) 61 : 92 82) 16.07016 83) 10891.333333333 84) 411/144

85) 69 86) 579.12
87) 07 Hours 
37 Mins

88) (q + 4)2

- 1
89) 34786cm 90) 91) 2448636.5997271ft

92) 20067m 93) 4300 94) q-15 95) 22 96) 28.9 97) x = 0.8 or -1.4 98) 504

99) 100) 36703.517879231
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